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Solutions to smp-6571-2/MUPJ

Worksheet

Problem quickname: 6571

1)
Calculate the result for each of the matrix cells.
A T aw ] 9 [ar| P+ a3 ] 9
35 26 | 14 12 | 37 | 43 | 21
30 21 | 9 1 | 26 | 32 | 10
Of - T 33 [3 28] V[ - 1ua]17] 3
45 | 12 | 10 | 17 2 | 8 | 5 | 19
2 9 | 7] 14 46 | 32 | 20 | 43
2)
Calculate the result for each of the matrix cells.
a) [ T oass [ 721 | 178 | -530
446 | 288 | -275 | 268 | 976
464 | 306 | -257 | 286 | 994
404 | 246 | -317 | 226 | 934
D) [ 626 [ 395 | -67 | -93
76 | -550 | 471 | 9 | -17
509 | -27 | 994 | 532 | 506
120 | -506 | 515 | 53 | 27
O+ [ 253 [ -a34 | 761 | 777
74 | 179 | -508 | -835 | -851
220 | 33 | -654 | -981 | -997
305 | 648 | -39 | -366 | -382
D [ a3 | cam [ 322 | 400
15 | -158 | -486 | -337 | 385
5 | -93 | -421 | -272 | 450
239 | -382 | -710 | -561 | 161
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Solutions to smp-6571-2/MUPJ

Calculate the result for each of the matrix cells. o
O a3 [ea [ 50 | P + [ 74 ] 14 ] 10

12 65 76 62 12 86 26 31

29 82 93 79 2 76 16 21

7 60 71 57 ) 79 19 24
O 4 [ 37 [36 [ 13] D[ + [30 [ 7] 3

7 44 43 20 16 46 94 52

62 99 98 75 18 48 96 54

24 61 60 37 11 41 89 47
4) Qi
Calculate the result for each of the matrix cells. o
) - T3 w2 P - J2a]3] o9

30 7 16 5 39 15 4 30

34 11 20 9 40 16 5 31
I+ Tz ] a [ao] D + ]2 ] a

13 30 17 42 2 27 33 9

10 27 14 39 11 36 42 18
Good Luck!
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